
Calculate 1s, 2s, and 2p orbital wave functions. And graphically plot them to compare and 

understand their space distribution. 
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where 1,3,2,1  ln  (principal q. n.)    q. n. : quantum num. 

 ml  ,3,2,1,0  (azimuthal q. n.) 

  ,2,1,0m   (magnetic q. n.) 
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  (Bohr radius)     p.n. : polynomials 

 

   
 

 
  

    









 













3

2)1(12

!2

211
                 

!1

1

!1

!
1

ln

lnlnlnl

ln

lnlnlnln

lnln

ln

ln
L





 ( assctd. Legendre p.n.) 
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    ( assctd. Laguerre p.n.) 
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(3) 2p      (2p-z, 2p-x, 2p-y ) 
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(4) 3s 
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